-

Gl

WeR®

&0

Term End Examination 2021 - 22

TEE/DCSE104/2019/2021 - 22

LIBRARY
Brainwere University
Barasal, Kelkata -70012¢

BRAINWARE UNIVERSITY

Programme — Diploma in Computer Science & Engineering

Time : 1 Hr.15 Min.

Course Name — Mathematics I
Course Code - DCSE104

( Semester 1)

Full Marks : 60

[The figure in the margin indicates full marks.]

Group-A

(Multiple Choice Type Question)

Choose the correct alternative Jrom the following :

)

The logarithm of 1728 to the base 2-/3 is

a)3
c)9

2
e o =

a)
c)

Ni= o=

3 s
logl®™" =

a)l
c)4

(4) P 2 =

logl +log = +log} =

a)0
c)3

(5) log;,x 108‘:; xlog?, =

b) 6
d) none of these

= |

b) 2
d)o

b) 1
d) none of these

b)

O | =

d1
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(6) 1f one root of the equation x* —8x+m =0is 2 , then the other root is
a) 14 b) 6
c)-8° d)4
(7) 1f oneroot of the equation x* +6x+ m = Ois 1 then the value of m is
a)-7 b)-4
)9 d) none of these
(8) Iftheroots of the equation (4—k)x* +2(k+2)x+8k+1=0are equal ,then k=
a)3 b) 1
)6 d) none of these
(9) Ifaandb are tworoots of 4x*+3x+7=0 then a? +57=
a b
)5 ! 21
9 341
c) 225 : d) .
343
1 __ 1 . ’
If —; isaroot of the equation px’+qx+l=0,wherep.qmrea.!thentbevalue
of p, q are
a) 25,-8 b) 25,8
c)5,-4 d) none of these .
11 e (1+i) .
The sum of real part and imaginary part of T_-;_—-u
a)2/5 b) 3/5
c) /5 d) 1/10
(12)  1f x+iy=(1+31)(1+2)(1+i)then x* +37 =
a) 10 b) 100
o)1 d) none of these .
(13) The value of (2+i)(3+2i)(4-7i)is
a)6 b) 60
c) 65 d) 100
(14)
I8+i i
8:‘+1|_
a)-1 b) +1
©) d) none of these
9 (- Ya-p-
a)-2i b) 1
c)2 d) 2i
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(16) (8-3i) (3+2i) =

a)30- 7i b) 18 - 25i
c) 7i+24 d) 30+7i
(17) 1f10g*" =1.431 then the value oflog 9 =
a) 0.934 b) 0.945
¢) 0.954 d) 0.958
(13) 1 1 1
iog? *iog? *ing? =
a)l b) 1
c)5 d) 60
(19) (3-4i)+ (6+7i) =
a)9+3i b)9-3i
c)-9+3i d)-3+ 11i
(20) 2 -3 4
Co-factor of -3 in the determinant |1 0 1|is
0 -1 4
a)4 b) -4
c)0 d) none of these.
@ 1 2 3
IfC=|-3 0 =1|,thenthe co-factor of the element 2 is
5 6 7
a)6 b)-16
c)l4 d) 16
(22) 1 «iF 3
The value of [2 -1 4|is
-2 3 1
a) 20 b) 13
c) 19 d) none of these.
23) 1 2 3
Thematrix [0 4 5|is
0O 0O 6
a) a diagonal b) an upper triangular

¢) alower triangular matrix

d) a symmetric matrix

(24)11'4:{2 9de3=(1 5],mmAB-BAis

4 3 7 2

a) (433 -:3]

L o

Y el

none of these .
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(29) 31 32 33 T
The value of the determinant [33 34 35)is \;;r ; I’ ,
32 33 34 Hrﬂ.‘ﬁ” -’:p"f.f-'
o
¢)-1 d) 67
(26)
5 6
The value of 1 2 is
a) 14 b) 16
)2 d) none of these
(27) Transpose of a rectangular matrix is a .
a) scaler matrix b) square matrix '
c) diagonal matrix d) rectangular matrix
28) 1£23 =0 then
b - -
o ald Y
-y d) none of these
(29) The vectors i +Aj+3k and 3i +3—2k are perpendicular to each otherif A=
a)0 b) -2
o)l d) none of these .
OO 1eZmrs s ma Baimy ten(305) 31
a=i+j+k and b=i—j then| a+ b |.a is equal to
a) b) -1
c)3 d)-3
G ¢ Z=3+47+2k and B=3i—j+k then . B=
a)5 b) -1
c)4 d)7

32 - A A A
( )Thevectorin the direction of the vector @ =i—2 j+ 2k that has magnitude 9 is:

-~ ~ ~ b) l ’_\ A_ A
i-2j+2k 3 i-2j+2k

c) ~ ~ P d) - - Y
3(i—2_;’+2k) 9[i-2j+2k)

33 - ~ A P -~ ~ A - -t
(33) If a=i+2j-3kmdz=3i-2j+2k thmtheanglebetwem(a+b)md(;_3)

DF b x
3 4

; - d) None of these
2

(34) A vector in the direction vector i—2; +2k that has magnitude 15 jg
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a) i—2;+2k
il

3

©) i-2j+15k d) 5i-10;+10k
(35) 3 4
If 90" < x <135° and sin x=§thmthe value of sin 2x is
a) 24/25 b) 23/25
c) 1125 d) - 24/25
(36
) If §<0<§45 and tzm29=%.thenthevalnc of tan Ois
83 b)-3
©)2 d) -2
G7)1f tan35 = 0.7, then the value of tan(-665")is
a) 0.7 b) - 0.7
)0 d) none of these .
(38)
It Sinx=% then cosx is
a) 2 b) N
d )
9 & d
4 2
(39) Sin( -—f. =7
a) sinx b) —sinx
©) cosx 9 _cosx
(40) The value of sinl15"sin 75°is
a) 12 b) 1
c) 1/4 d) none of these .
(41) If tan @ =3 , then the value of cos26 is
a)-4/5 b) 4/3
c)1/3 d)2/3
42) B s
The value of 200s10° 2smio is
a) -2 b) 2
o)l d) -1
(43) Which of the following points on the line v = 3x+2 ?
ﬂ) (la3)s('l"l) b) (1’5)’(-]’-1)
c) ("[sl) ’ (0:2) d) ('19"1) s(‘294)
(44) What is the equation between the two points (1 ,-1) (-2, -3) 7
a) 2x-3y=5 b) 2x+3y=- 1
¢) 3y-4x=-7 d) 4x-3y=7
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(45) What is the gradient , m , and y — intercept , b, of the line 2x-5y=10 7

a) m=2b=10 b) m--}.b""z : ’:l:h'_',
°) n--—%.a-z 4 ---:—.5-5
(46) The radii of two circles are in the ratio 3:2. the area of these two circles will be in the r
atio
a) 54 b) 9:4
c)3:2 d) none of these
(47) 1—tan x | T
) = s Ben ¢(F-x)-
a) tam x b) tan 7
C) ~tmx d) cotx
(48) _ »_a9
- e
a) 9/5 b) 27
c) 972 d) 2/9
(49) : ) ) 2 . ‘
If f(x)is continuous in [0.4] and f(2)=§ then lim f'(x) =
a) 2/5 b) 5/2
c)4 d)0
o If y =log(log x) (base of thelog are e ) then the value of %
a) 1 b 1
logx xlog x
- lo‘% 9 none of these
1
¢ )If y =log tan x then %is equal to
a) 2sec2x b) 2coec2x
C) 2sec®x d) 2cosec®x
-0 x
a)0 b) 1
c)2 d)3
(53) If x = asec?s ,y-=b1m’9, then S% -
a) a b) '
b a
C) ab d) b
a
(549
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24 b)0 il

c)l d)3
(55) Atx=1, & {sec(tan_.lx)} &

a) N : b)

o 2 d) 1

V2

(36) If 3 = tan-! a:’:: , then %;-

a) b)

l;
i "1 -|-lr!
C) 1+ x?

d) none of these.
(57

—

If x=aoostand ¥ = bsinr, then Z‘y
I

D 2 cous b) & e
[
©) —Emtt d) Em’
- o

(58) -1 -J'i+ cos2x ay
ST s otk

a)-1 b1
c)2 d) o
(59) S

If y=tan~! x+ tan~! =, then the value of .3_::5
X

a) & b) 1
c) 2 d)
' ¢
(60) If y -—*oot"i(tanx)-i-tan" (cotx), then the value of %is
a) -2 b) -1
c) 1 d) 1
5 1+ x* dExT
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